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ANSWER KEY 
A. : 
2. 40º 3. 20° 4. (i) 70°, (ii) 105°
5. a = 130°, b = 50° 6. (i) y = 60°, (ii) x = 70°
7. AOC = 35°, COF = 105° 8. 130°, 130°, 130° 9. 50°
10. x = 130°, y = 50° 11. y = 35°, z = w = 145°

B.  : 
13. AED = 34°, PDQ = 68°, DEF = 68°
16. x = 48°, y = 36°, z = 96°
17. 90°
20. 50°, 60°, 70°

C. : 
22. 16°
24. EBD = 36°, BED =BDE = 72°
26. TRS = 60°
27. 40°, 60°, 80°
30. PQA = 34°



EXERCISE # 2
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ANSWER KEY
1. 132°
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3. 720° 4. 540° 5. 67.5º
6. 90º 7. 55º 8. 30º
9. 50º 10. 145º 11. 30º
12. 30º 13. 140º 14. 30º
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